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6.3 Water and minerals
6.4 Review questions 3 and 4
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Objective: Describe the process of transpiration

https://www.youtube.com/watch?v=XscwBiUCK18

Book page 88
Review questions 3,4


https://www.youtube.com/watch?v=XscwBiUCK18
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6.4 Review
Answer key /pages 90,91 questions 3, 4

Question 3 :

Q3.a. As the light intensity increased, the amount of dissolved oxygen increased.

b. As the light intensity increased, the amount of dissolved carbon dioxide
would decrease because more would be used for photosynthesis



Question 4 :
a. Oxygen gas

b. Apparatus B.
c. By increasing light intensity .
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